PREIZKUSI KODO

PYTHON:

v

v

DESETISKA STEVILA

(([gloap)aas+ ([zloap)azs + ([1loap)azs + ([oloap)a3s)3zutad
(,o1TA935 oysTloap o(,) 3jutad
T+C0=2¢C
TS8P = Sap
T//s9p = [[loap
:[1’z’%’g) ur T 03
0o=_"C
[0‘0’0’0] = oap
OTTA93S OYSTLOAD A BHayST39s9p pqIroazaxd #

((, :(s1-0) oTTA®3S OXST3=®saQ, )3nduT)3uUT = SIP
PTTA93S PDHIYST3959p SouA #

v

v

DVOJISKA STEVILA

T+ T+ T+ T+ T+ o C=910T

" Z Jo 1amod

By

¢rtkanih crtah.

v

%. Izrezi po

2. Na hrbtno stran
nanesi lepilo.

na pol.

1. Prepogni kartico

]

Ustvari kartico



